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TX6= 13x9=
12x12= 51x10=
72+9= 80+-2=
78 =3 = 91+13=
2+-3= 6+-9=
7 5 1 1
212 2t3=
5.8 8.5_
12 7 35 3° 6
7 9

55 X 100= 10 +6
20—5%3=

5x9—-12+3x%x2=

2X(3B+2)+12+3X%2)=

13x9+13x1=

7-5= 5—7=
—7+5= —547=
—7-5= 9—6=
6—9= —946=
—6+9= —9—6=

13—-19=

—15—7=

~18—9=

32—45=

(+15)+(+5)=

(+7)+(+8) =

(+16)+(+3) =

(+8)—(+5)=

(+2)—(+9)=

(+12)—(+19)=

(=9)+(+10)=

(=11)+(=11)=

(+15)—(+5) =




(+8)+(=9)+(=1)=

(=21)—=(=10)+(+1)=

(+9)+(—=21)—(=2)—(+15)=

(+3)X(=2)X(+5)=

(+9)X(=5)=
(=9)%x(=5)=
(=7)x(+5)=
(=9)x (=)=

axXa= axXaXa=
aXa’= a’X a®=
2Xa= 2XaXa=
2X a?= 2aX3a'=
axXb= a’xbd=

2XaxXbXaxXaXbx3=

ab’x a’h®= 8abx4b?=
a’b X abcX act=

abx4a’x3b*=

ata= 2a+4a=
8a—6a= 4a—8a=
3a+4b+5a—b=

8a—2b+6b+4a=

12a%4+5a —6a%—a=

8a—6a’+2a®+3a=

13a%+4ab+9b%—4a%—5ab—b%=

2aX3a+2aX5b+bX3a+bXxX5b




